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Disable Circuit if !FlipFlop or !R_SW_i
Gentle 00 on Data bus.

R_SW AND Inverted PH0 (PH0 Low is needed)

S_Sel = Assert Enable DMA and next step
50ns Delay

Second PH0 Drop, Assert RW low

On Second time PH0 High + half cycle... turn off FlipFlop

GND and R_SW connect together.
Pulls Reset Low, and R_SW_i high.
PHO_i High (Ph0 inverted, so PH0 LOW) and R_SW_i high sets CL_e
Every other CL_e high, flips the state of S_Sel
When R_SW_i (Switch is on) and S_Sel high, C_En goes high.
So releasing SW at J2 turns off the circuit.
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